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2016/12 New Cisco 300-475: Building the Cisco Cloud with Application Centric Infrastructure Exam Questions Updated Today!
Free Instant Download 300-475 Exam Dumps (PDF & VCE) 65Q& As from Braindump2go.com Today! 100% Real Exam
Questions! 100% Exam Pass Guaranteed! 1.]2016/12 New 300-475 Exam Dumps (PDF & V CE) 65Q&As Download:
http://www.braindump2go.com/300-475.html 2.]2016/12 New 300-475 Exam Questions & Answers.
https://1drv.mg/f/sl Avl 7wzKf6QBjgSOQNhLI7c60n7UB  QUESTION 21Which three components are directly related to the Cisco
ACI automation framework? (Choose three.) A. JSON/XMLB. LLDPC. RESTful APID. HTTP/HTTPSE. STPF. OVA
Answer; ACD QUESTION 22The Cisco APIC REST API for Cisco APIC accepts and returns HTTP or HTTPS messages that
contain which two types of documents? (Choosetwo.) A. HTMLB. JSONC. ChefD. XMLE. Python Answer: BD
QUESTION 23Which programming languages can be used to generate the messages the APl accepts? A. PHPB. C#C. JavaD.
RubyE. any programming language Answer: E QUESTION 24What are the general steps to creating a tenant with Cisco ASA
services? A.  Create the tenant, apply the graph to the contract subject, define theLayer 4 to Layer 7 servicedevice cluster, define
the logical device content, create the service graph.B.  Click the Create ASA Services button in the Cisco APIC Management
Interface and enter the appropriate text and information.C.  Create the tenant, define theLayer 4 to Layer 7 service device cluster,
create the service graph, define the logical device content, apply the graph to the contract subject.D. Y ou should not create the
Cisco ASA Services as atenant; it should be created as a bridge domain. Answer: C QUESTION 25Which two options outline the
design requirements for spine nodes in a Clos design? (Choose two.) A.  host connectivity scalabilityB.  spine interconnectivityC.
leaf interconnectivityD. high 40-Gb/s port density Answer: CD QUESTION 260pFlex uses which standard web-based
technology? A. Javascript Object NotationB. SmartTakC. no APl based featuresD. PHP Answer: A QUESTION 27What is
the requirement to establish connectivity in the Cisco ACI fabric between two EPGs in separate tenants? A.  scope tenant contract
B. scope private contractC.  scope intertenant contractD.  scope global contract Answer: D QUESTION 28Which two planes are
involved in the discovery of hypervisor hosts on the Cisco ACI? (Choosetwo.) A. dataB. managementC. controlD. HSRPE.
LLDP Answer: AC QUESTION 29When creating EPGs in the Cisco ACI, what does this automatically create on an associated
DVS?A. network portsB. port groupsC. ACLsD. VLANsAnswer: B QUESTION 30What unique feature does the Cisco
AVShave? A. provides cross-consistency in features, management, and control through the Cisco APICB.  alows for integration
to the VMware vCenterC. works as an edge deviceD. has APIs for both northbound and southbound integration Answer: A
IHNRECOMMEND!!!  1.Braindump2go|2016/12 New 300-475 Exam Dumps (PDF & VCE) 65Q& As Download:
http://www.braindump2go.com/300-475.html 2.Braindump2go|2016/12 New 300-475 Study Guide: Y ouTube Video:
Y ouTube.com/watch?v=dkOvfEmE4bk
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